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Question Number : 1 Question Id : 793523101 Display Question Number : Yes Is Question
Mandatory : No

In nitrogen cycle, degradation of nitrate is called denitrification. Which one of the following
is a denitrifying bacteria?

5T BiE0s . TETE § cachd BROOEAR ©0erdd. 00 23S A6
BG070m0f rgdoai

ve

Options :

1. Nitrosomonas

SOTFSTID
2. Nitrobacter
,x OO0 rED
3. Pseundomonas
Ly AR
4. Azotobacter
05 ¢5 280
4. %

Question Number : 2 Question Id : 793523102 Display Question Number : Yes Is Question



Mandatory : No

Algae growing along the shores of lakes and ponds are referred to as
DGIO0 BN TEIHE 26D DM ST DDA
SVEATOV

Options :

1. Benthophytes
BOS D)

b

Planktophytes
08 )

ad

Epactiphytes
a3 e )

4. Cryptophytes
508 D)

Question Number : 3 Question Id : 793523103 Display Question Number : Yes Is Question
Mandatory : No



Math the following

806 ¢3Q DO Yok
0 Crossing over ) C. B. Bridges
¢3 I¥c0 : C.B. HOGV
. Non disjunction Barbara McClintock
W D)0 FRE b) 28)0° D5S0EFS
Transposable elements Bateson & Punnett
W s eoren | 9| BedanDS
(iv Coupling & Repulsion 0 T. H. Morgan
§ODC0 & D5V T.H 3T

Options :

1. (1)-d : (11)-b : (111)-a : (iv)-C

2. (1)-d :(11)-a : (i11)-b : (1v)-c

2. ¢
3. (1)-a : (i1)-d : (ii1)-c : (1v)-b
3. %
4. (1)-b: (i1)-c : (11i1)-d : (iv)-a
4, %

Question Number : 4 Question Id : 793523104 Display Question Number : Yes Is Question
Mandatory : No

The characteristic inflorescence of Lamiaceae family is

PRI N0 TN D )G ©F 25D
Options :

1. Thyrse
el



2. Verticillaster

SOVONH
2.¢¥ ”
3. Compound raceme
L« SOJ"06 O
4. Scorpioid cyme
i 9250 o
4.

Question Number : 5 Question Id : 793523105 Display Question Number : Yes Is Question
Mandatory : No

The process of carrying over the DNA from donor cell to the rectpient cell with the help of
phage particle is referred to as

5 POSS FON0S e 8690 K008 ([foreh SIS DNA O ST
560D SIRTARN

Options :

1. Conjugation

DOOIFHO

2. Transduction

00 )80
2.
3. Transformation
é@éé&
3,



4. Multiplication
(DEISTO0

Question Number : 6 Question Id : 793523106 Display Question Number : Yes Is Question
Mandatory : No

During photosynthesis. PS I passes electron to NADP™ via the redox protein

80Ez35 TIPSO HOHOES, PS 1) BT NS @ 10° O Taedd
NADP+ § 20a) €00

Options :

1. Plastoquinone

T8 ¢S
1. %
2. Plastocyanin
TS
2. %
3. Ferredoxin
P Sel AN
3¢
4. Cytochrome bgf
V5T b6t
4, %

Question Number : 7 Question Id : 793523107 Display Question Number : Yes Is Question
Mandatory : No



In flowering plants, the another wall 15 composed of 4 to 3 layers. The mnermost wall layer
develops 1nto a single layered

3908 2gos 9N i 408 5 Fos §98 dotnod. SO R
3023 30 ol Todmn) @0t

Options :

1. Endothecium

OB TAONO
1. %
2. Tapetum
AP AN
2.
3. Stomium
SEDOHO
3. %

4. Sporopollenin
° E;}f)ﬁ INHOININ]

Question Number : 8 Question Id : 793523108 Display Question Number : Yes Is Question
Mandatory : No

Roots absorb large quantity of 1ons along with absorption of water. The 1on absorption
mcereases with mcrease m transcription. Which of the following explams the above
statement?

36 AR 20 T8 226 0 S0 AT ((fraron.
ERARRR DD B0 T3 D00, §007ES
BSANMRN S elaY,

Options :

1. %



1. Ion exchange theory

OOIrR P8 VP00

2. Mass flow hypothesis
SR |D0%° B N

2.
3. Donnan equilibrium
; B DN 50
4. Carrier concept
L SI{OTONISIEALNEY

Question Number : 9 Question Id : 793523109 Display Question Number : Yes Is Question
Mandatory : No

Aliving tissue composed of elongated cells with thick primary non lignified walls are called
30876 (O TR -Of) DG Aed ShHTR Erod et e
§6927©0 o o &0

Options :

1. Aerenchyma

DV LI
1. %
2. Chlorenchyma
) SIS
2.

3. Collenchyma
SO AN

3.¢



4. Sclerenchyma
L . 08"

Question Number : 10 Question Id : 793523110 Display Question Number : Yes Is Question
Mandatory : No

The fungal kingdom was divided mto two large divisions as Myxomycota and Eumycota
This classification was put forward by

3001 PR, DEIDEET Bk ADNEER 97 Boch T
DTN DRI, B 50 & 508589 00K 5008

Options :

1. Linnaeus

. DFATOMNWS
2. Frntsch
(DD
2. ® :
3. Robert Hooke
ORATOPONS]
3. %

4. Amsworth

000

4.+

Question Number : 11 Question Id : 793523111 Display Question Number : Yes Is Question
Mandatory : No



Tobacco Mosaie Virus (TMV) contains as the genetic material

SPPE) F02onS FER (TMV) o) 2§ D0 $OR G0H
Options:
1. Single stranded DNA
) 00AO | y"ot3& DNA
1.

2. Double stranded DNA
$520® |*03&% DNA

3.v

4. Single stranded DNA & RNA
08O |"o3& DNA & RNA

Question Number : 12 Question Id : 793523112 Display Question Number : Yes Is Question
Mandatory : No

Based on the phytogeographical zones, a zone which extends from 3500 to 4000 metres
alfitude and 1s characterized with Junipers, Rhododendron, Betula 1s teferred to as

RTINSO 50 e80T, 3500 508 4000 NS I S3K
AN00D), V0, BETOES, Benerd H050085AS £ DS
NN

Options :

1. Tropical zone
GRDOGO &



2. Temperate zone

o & .,
DoNFD e OGBSO
2. %
3. Alpine zone
SBIS SR
3.¢¥
4.  Submontane zone
DS 0O S
4, %

Question Number : 13 Question Id : 793523113 Display Question Number : Yes Is Question
Mandatory : No

In plants, majority of the water movement 1n the root cortex occurs by

08,06 6765 351 D80 DS €50 B &5 H0BN0E

Options:
1. Apoplast
SINEVEN
1.4
2. Symplast
20D
2. %
3. Tonoplast
. oD

4. %



4. Transmembrane pathway

18°Q JRDO(Z3 Q0

Question Number : 14 Question Id : 793523114 Display Question Number : Yes Is Question
Mandatory : No

The phenomenon m which the linked genes are widely located m chromosomes and have
chances of separation by crossing over 1s called

$)0§ TN BHIen [FITEDOS DRSO HBA 0 0"
DA ODTTO) BT 0D O LAANOR aotrdy?

Options:

1. Complete linkage
3”0 @ NO0TN0

1.%
2. Incomplete linkage
. 29000 9 NDOTH0
3. Coupling
SSreInTe
3, %
4. Repulsion
DEBed
4. %

Question Number : 15 Question Id : 793523115 Display Question Number : Yes Is Question

Mandatory : No



Which of the following statement regarding nucleosome model is incorrect?

SPsEarE D IPBOL H020B0R) §06 T3S ) (IEES €852

Options :

1. Nucleosome model was proposed by Kornberg.

8BS ) IO 525) 28 (DI 0T .

2. DNA iswrapped around histone octamer to form nucleosome.

58T A BrPoA0IERE DNA sTaFS 8T8 w0l thed

G00.
2. %
3. Each nucleosome 1s a disc shaped particle of 11 nm.
e S8 TrS ) AR 85306 0% 11 nm E8s.
3.

4. The basic nucleosome structure 1s folded into a fibre like structure of about 300
nm which 1s referred to as solenoid model.

NS S STrE D A07)E0 OB 0T 300 um ©
ST DESADM0E, B FSS WG SPGB AFDTE.

4.+

Question Number : 16 Question Id : 793523116 Display Question Number : Yes Is Question
Mandatory : No

Some of the bisexual flowers do not open and the pollen grarns are distributed on the same
flower. Such type of pollmation 1s called

§0), 000 a1 By HO0 I N03eN &3 )R H0DE
DODCEEON. ®ENS0ES DTRG0 Ne0erd)?

Options :



I. Xenogamy

L x BSTTD

2. Geitonogamy

. SIS ™Y
3. Homogamy
- 20" 30 P

4. Cleistogamy

ST

4.

Question Number : 17 Question Id : 793523117 Display Question Number : Yes Is Question
Mandatory : No

During photosynthesis, molecular oxygen 1s evolved m

§5eazeds HOTTHEOD Ne00HOET, 50500 €38 125 &) (8

€509)D0TNER0E?
Options:

1 . PSI1
v 2. B8 1

3. BothPSTandPSII
PS I o000 PS II DOy



4. Neither PS I nor PSII
PS I S PS II 5°¢0

Question Number : 18 Question Id : 793523118 Display Question Number : Yes Is Question
Mandatory : No

The sclereids are widely distributed m plant body. Some sclereids are short and
sodiametric and found in cortex, phloem and pith of the stem. They are called

2050 46006 2)._36) SO o TahadeEon. §2) . 06)
) OO HRABAFHES DO FBE)Y, Db Bk Tocko
3I0%) DB EATOD. A D0ErE?

Options:

1. Brachysclereids

(2R, 0R)

1.4

2. Macrosclereids

S8 _O8)

-

3. Osteosclereids

ST VY OB

4. Astrosclereids
3 Ry.08)

4, ®

Question Number : 19 Question Id : 793523119 Display Question Number : Yes Is Question
Mandatory : No



Fats are found i higher plants. It 1s stored i cell organelles called
08 KOS §55100 ST, B HENSAT DO BSHTOS 20
NOIEROWANEN oA

Options :

1. Glyoxysomes

080
1%
2. Spherosomes
L, ) D)
3. Peroxisomes
- D080 )
4. Ribosomes
) B ESwen
4.

Question Number : 20 Question Id : 793523120 Display Question Number : Yes Is Question
Mandatory : No

In bryophytes, sexual reproduction 1s of type.
TS, BoAE HSSes e 3%o0.
Options :

1. Isogamous
. 0T



2. Anisogamous

- QPN
3. Oogamous
100
3.V
4. Heterogamous
20§30
4. %

Question Number : 21 Question Id : 793523121 Display Question Number : Yes Is Question

Mandatory : No

Superior appearing plants are selected from a genetically vartable population and

progenies of the individual plant selections are grown and evaluated. This type of
selection 15 called

2SNG0 IOAHNO 2P HOG &) S0 ZAN0T LN A0S
DohadEon N0 S50 THO oS TN, o0
OHM0H HOAM Srersoddo DANAEMOE. & GRS oS
AROLTE?

Options :

1. Mass selection

PN DO

2. Pure line selection
D 5D B DOE



-

3. Phenotypic selection

e §AANO DONS

4. Hybridisation

RBBAS
4. %

Question Number : 22 Question Id : 793523122 Display Question Number : Yes Is Question
Mandatory : No

Which of the following herbarium belongs to India?

806 ¢3S &) TrBYOAN0 2rBHTRFTVE TOOIE?

Options :

1. Conservatory and Botanical Garden

END 0 HOA SErAED MO

1. %
2. Royal Botanic Gardens
OHOWDRAT AR O
2. %
3. Natural History Museum
Qa3 YOS 052000
3. % -

4. Herbarium of the National Botanic Gardens
PANO FErAT TIR.) ABWE) °THYHONO

4.



Question Number : 23 Question Id : 793523123 Display Question Number : Yes Is Question

Mandatory : No

A phage that replicates only by Iytic cycle 1s called

¢35 8O T T° ST(SHR) (e300 e @ e0r)?

Options :
1. Virulent phage

S50 DS

1.4

2. Avirulent phage

. ONEFC0E S
3. Temperate phage
. DI S
4. Prophage
e
4. %

Question Number : 24 Question Id : 793523124 Display Question Number : Yes Is Question

Mandatory : No

The entry of pollen tube through the micropyle is known as

DE DO 0" DA 5 |DDTRY, DeD0EFS?

Options :

1. Porogamy

PO T

1.¢



2. Chalazogamy

L DOETY

3. Mesogamy
- ESVENE OOV

4. None of the above
\ 2 D) 5%

Question Number : 25 Question Id : 793523125 Display Question Number : Yes Is Question
Mandatory : No

Forests with trees like Tectonagrandis, Acacia, Terminalia occur m areas with annual
ramfall of 75 cm to 125 cm with a dry season of 6 months. These type of forests were
teferred to as

DS TodR, eshor, VOITONF S0 TOS §rdd odHo 75
20800 D06 125 HOSDHS T0E SPs0 65 Foed 6 T
ST &0Ero. € 3530 @O Fer AP

Options :

1. Tropical moist semi deciduous forests

EN0BE G o ST ) @9C8sHEN

1. %
2. Tropical dry deciduous forests
) E5adoN0CHE) G ST ) @9CH6)eN
2.

3. %



-

3. Sub-tropical dry evergreen forests
50T NO O PG e85 Ded @9hs)en

4. Himalayan moist temperate forests

STRTEION 5 DoNID a 95N

4, %

Question Number : 26 Question Id : 793523126 Display Question Number : Yes Is Question
Mandatory : No

In most grasses, the main axis only develops lateral branches from basal buds. These
branches are called

TR AR 190 980 6 e 08 3F6) TPOKD ST B
92)ad90 BB, 8 TROR D0EPH?

Options :
1. Tillers
Aldley
1.¢
2. Culm
- §O)
3. Ligule
. OnS
4. Auricle

e3HEDO



Question Number : 27 Question Id : 793523127 Display Question Number : Yes Is Question
Mandatory : No

Which of the following is not a biodiversity hotspot in India?

808 T3S DO 2rGBDF0S BIDNES SFEIINE 5°¢3?

Options :

1. The Deccan Plateau

1. AEPEN DB23°

2. The Western Ghats

NDF Yo Eadaden
2. %
3. The Indo-Burma region
3 ROEG-207) |3P0HO
4. The Himalayas
\ 00%030° ) 03"

Question Number : 28 Question Id : 793523128 Display Question Number : Yes Is Question
Mandatory : No

The ratio of recessive epistasis 1s
DS daar e O e
Options:

1. 137 3

1. %



2. %

3 99
3. %

4 9:3 4
4.

Question Number : 29 Question Id : 793523129 Display Question Number : Yes Is Question

Mandatory : No

Cyclic photophosporylation 1s dominant in

SHEOH ST NTBAS BIS DT IDSE?

Options :
1. Algae
es®3
1. % i
2. Fungi
. 3OO\ TFEN
3. Bacteria
28BS
3.¢ ®

4. Green plants
DI B3NE) e

4. %



Question Number : 30 Question Id : 793523130 Display Question Number : Yes Is Question
Mandatory : No

Pollination carried out by bats i1s called
(fedyered @ So° 2300 DTHRN0NG)L0 Q DeDOLFH?

Options:
1. Chiropterophily
A oD

1. N

2. Orithophily
. 308 DO

3. Malacophily

3 SO

4. Entomophily
L DOETETHO

Question Number : 31 Question Id : 793523131 Display Question Number : Yes Is Question

Mandatory : No

An enzyme which moves along the DNA helix and separates the double strand 1s called
DNA 7708 ) 306 $08 H00L) 4200 [P0k FHBW 0B BOEFH
Options :

1. DNA polymerase
DNA 2°©)s0 0



2. RNA polymerase

RNA ore)s00w
3. DNA ligase.
DNA 0.
3, %
4. DNA helicase
DNA 330
4.

Question Number : 32 Question Id : 793523132 Display Question Number : Yes Is Question

Mandatory : No

[n nitrogen fixation, the enzyme that catalyses thetransfer of ammno group from one amino
acid fo the keto group of keto acid.

36523 2080RS, 2.8 @R D0 Hod 85 esno ) &
DRTIE @Y IR 20O TN &(8 )50 T2 OBN?,

Options :

1. Transacetylase

(AR AT
1. %
2. Transaminase
RGATES
2. ¥
3. Nifrogenase
SIS BT



4. Nitrate reductase

SBoéd Bcsges

4. %

Question Number : 33 Question Id : 793523133 Display Question Number : Yes Is Question
Mandatory : No

A phenomenon called epinasty occurs, where the dropping of leaves and flowers is caused
by the exposure of plants to

@ﬁm’f’g &% &8 d)gﬂwoﬁx Y0250, B84 35962 HOCK 2 §e0

TOFIE0 SO IO BHBTHE0 06 80O
Options::

1. Auxin
- SIS

2. Giberellin

ABDOS
2. %
3. Ethylene
ROOS
3. ¢
4. Cytokinin
) VETEIS

Question Number : 34 Question Id : 793523134 Display Question Number : Yes Is Question
Mandatory : No



Anabaena 1s a
SINFATAEBS

Options :
1. Free living Nitrogen Fixing Cyanobacteria.

L) 23S DSBS HEI0H DS2rEB AL,

1.4

2. Free Living Nitrogen Fixing Bacteria.

2 OO0 JIESBS DEYOA 28BS

2. %
3. Symbiotic Nitrogen Fixing Bacteria.
. D785 DSBS DEYOR er8BasT.
4. Symbiotic Nitrogen Fixing fungi
DB 5% TISBS DA FDoren
4, %

Question Number : 35 Question Id : 793523135 Display Question Number : Yes Is Question
Mandatory : No

The botanical name of wheat 1s
000 A3E), SEFAED W
Options:

1. Orvza sativa
- 2,023 3oy

2. Avena sativa

LI eI



3. Bambusa vulgaris

25°020° IO
3. %
4. Triticum aestivum
Lo 13880 8RN

Question Number : 36 Question Id : 793523136 Display Question Number : Yes Is Question
Mandatory : No

15 a type of asexual reproduction which takes place without fertilization
B30 2.8 55305 WSO %S )8, 98 N im0 Bhow
ZAHE 00

Options :

1. Amphimixis

O3 ODaNE Y
1. %
2. Apomixis
9 NE YD
2.
3. Apospory
DININATS
3. %
4. Parthenocarpy
. 0S8
4.

Question Number : 37 Question Id : 793523137 Display Question Number : Yes Is Question



Mandatory : No

In Calvin cycle, the first stable product is

528 ¢S HEOST, BHe3 VB eoedyed

Options :

1. Fructose - 6 - phosphate
DED - 6- Y0

1. %
2. Ribulose - 1.5 — bisphosphate
) 820D - 1,5 - Daryw)E
2.
3. Xylulose - 5 — phosphate
. 220065725 -5 - )
4. 3 —phosphoglycerate
3 — ) NOBE
4.4

Question Number : 38 Question Id : 793523138 Display Question Number : Yes Is Question
Mandatory : No

The system of binomial nomenclature was introduced by

B 8D TNEBED 635690 T° T° OTIAN0 DANDBOE

Options :

1. Robert Hooke
- o°200 VS



2. Charles Darwin
° 0 30 S0

2. %
3. Carl Linnaeus
50 OR) 0NN
3. ¢
4. Gregor Mendel
17090 HoTBO
4, %

Question Number : 39 Question Id : 793523139 Display Question Number : Yes Is Question
Mandatory : No

Polygonum 1s an example for
O B 5T GED

Options:

Monosporic embryosac

_, S )B8 Qo @S

Bisporicembryosac

. P HNBO012)A3rS

2.

Trisporicembryosac
(E3FNO 023 S

3. %

Tetrasporicembryosac
BT IO 02

4, ®



Question Number : 40 Question Id : 793523140 Display Question Number : Yes Is Question
Mandatory : No

In Funaria, the vegetative reproduction takes place by means of

DVOOSTE, QYT RSB 3 T° BEDHIE

Options :

1. Primary protonema

ErODE (S a5

2. Gemmae

2]
2. %
3. Apospory
9P O
3, %
4. All the above
ey
4. =

Question Number : 41 Question Id : 793523141 Display Question Number : Yes Is Question
Mandatory : No

A type of stomata where the stoma remains surrounded by two accessory cells which are
parallel to the long axis of the guard cells 1s

TR 08 380, 28y ¢ Faie Boch @06 866y tHEY G0N0,
90 P $670) P OFRS NaiP0SIOT GOETOD. BN Aotrh?

Options :



1. Anomocytic

) @S S e3s
1,
2. Anisocytic
- QP ¢3S
3. Paracytic
O W
3. ¢ =
4. Diacytic
O3 E3S
4, %

Question Number : 42 Question Id : 793523142 Display Question Number : Yes Is Question
Mandatory : No

Most abundant sterol in plants 1s

SNELOS” DEYSIT GOT RTPO?
Options :

1. Sitosterol

AETR0O
1.4 :

2. Campesterol
SODRNOO

Stigmasterol
VTIRTO

L4



4. Cholesterol
§S|ITO

Question Number : 43 Question Id : 793523143 Display Question Number : Yes Is Question
Mandatory : No

Which of the following organelle 1s not mvolved m photorespiration?

8060 a3 & STTS FETATANS are 5¢ky?

Options :

Ji Peroxisome

N0°8 )0

1. &

2. Ribosome

b=

L BEED

3.  Mitochondria
. DE OB

4. Chloroplast

Question Number : 44 Question Id : 793523144 Display Question Number : Yes Is Question
Mandatory : No



The ovule has two-sided curvature and the ovule and the embryosac appears to be m a
horse shoe shaped. This type of ovule is termed as

@000 B0k Fo)® al(§edad SO &506000 SHBOK ©0Ck0 sHON D00
1,00 3P 800 56516 EN0A. & 5L ®OmR) A Noerdy?

Options :

1. Orthotropous
31670

2. Anatropous

TNRIARATN
2. %
3. Campylotropous
= 6 Vi E
. SOV AP
4. Amphitropous
eS0T DD
4.9

Question Number : 45 Question Id : 793523145 Display Question Number : Yes Is Question
Mandatory : No

A molecular marker based on the differential PCR amplification of a sample of DNAs
from short oligonucleotide sequences is

1), 20T SEPTIA 510 06 DNA © SR Ging) 86580
PCR OSF0oR320 ST 2.8 o7E30:00 air) 0

Options :

1. RFLP

1. %



Question Number : 46 Question Id : 793523146 Display Question Number : Yes Is Question
Mandatory : No

Which of the following plant is a long day plant?

80O e3¢5 DO long day g2

Options :
1. Potato
2O FCDON

2. Cucumber

APAEOW
2. ®
3. Maize
ANERE )
3.9
4. Sugarcane
IRIOIN
4, ®

Question Number : 47 Question Id : 793523147 Display Question Number : Yes Is Question



Mandatory : No

Solutes that require a membrane transporter to diffuse across a membrane 1s called
80 ®OSER a7§0) TOSEIE [A)A (7R )P0 IGO0
[PSETO DOLR?

Options :

1. Simple diffusion
T 050

1. %
2. Facilitated diffusion
D2IBSS0 °§)
2. ¢
3. Both simple and facilitated diffusion
PGP SO NEZIBB0 I $) DO
3. %
4. Neither simple nor facilitated diffusion
. PG BT® SIS B0 3°50d

Question Number : 48 Question Id : 793523148 Display Question Number : Yes Is Question
Mandatory : No

[n Euphotbiaceae famuly, the fruits break violently and dehisce mto Iseeded cocer. It 1 a
charactertstic of Ricinus sp. and this type of fruit is termed as

OEF0ITHR SEN0A0E, 0 SFORPS )0 O 1 A& S8 AESEa.
560 B sp ORNE) ©F £90. NN &8 ETed DO AeD0Erty?

Options :

1. %



1. Drupe
(N

2. Regma

L, OM
3. Legume
8 CD
3. %
4. Bemry
2316
4. % -

Question Number : 49 Question Id : 793523149 Display Question Number : Yes Is Question
Mandatory : No

Population disperson 1s the movement of mdividuals mto or out of the population area.
The one way outward movement of a population 1s called as

2T BOOTG0 0RO sy [Fos0e § B Jende e §56%
a2y 3 SP00S 3 2mPs SO A Dotrdy

Options :

1. Emigration

DDA

1.4
2. Immigration
e AODS

3. %



3. Overpopulation
958 230727

4. Migration
NSRSV

Question Number : 50 Question Id : 793523150 Display Question Number : Yes Is Question
Mandatory : No

Late blight of pofato 1s caused by
QOTTFCN0N O3NS BOIFOMT SN DY A eDOEF?

Options:

1. Ustilagomavdis

) G DA
1,
2. Alternaria solani
. (2EP5eIT°) O3 PP
3.  Fusarium oxvsporum
P00 e8P B0
3. %
4.  Phvtophthora infestans
) RE o ATITR)
4. &

Question Number : 51 Question Id : 793523151 Display Question Number : Yes Is Question



Mandatory : No

The growth of apical buds mhibits the growth of lateral buds. This phenomenon 15 called
2080 Jntfey MR 1) Sulfer DEMSOR VFONOE. &
QAEA0N0 A JDOER.

Options :

1. Vivipary

5O

2. Apical dominance

DDEO SHNE L0

2.¥

)

Parthenocarpy

. 0S50

4. Scarification

20132

4. %

Question Number : 52 Question Id : 793523152 Display Question Number : Yes Is Question
Mandatory : No

Enzymes which catalyse covalent bonding to form a single molecule are called

2.3 60N OSBERE ADTTEN0D 205H), (B80T JOBMEN
D Q0trd)

Options :

1. Transferases
CAMAR O TS



2. Lyases

@8?\3
2. ®
3. Isomerases
. RO
4. Ligases
TN
4.

Question Number : 53 Question Id : 793523153 Display Question Number : Yes Is Question
Mandatory : No

Golden rice was created by transforming rice with 2  carotene biosynthesis gene
2B 36E3R ATBPROBNR Be)S DT SPEIR0 T 07 0TS
20050 d0inGod

Options :
1. psyand cril
L D500 58S
1.
2. psyand cry
Vo000 (3
2. % )
3. cryand crtl
; 13 DO §QO



4. eryand gif
1S 0O A

Question Number : 54 Question Id : 793523154 Display Question Number : Yes Is Question
Mandatory : No

The cytoplasm of bacteria 1s found with ribosomes of
25 s8005 BHE) DETBS BSOS
ENTIDHOO?

Options :

1. 308

2. 408
3. 708

4. 80 S
4. %

Question Number : 55 Question Id : 793523155 Display Question Number : Yes Is Question
Mandatory : No

In biotic mteractions, a term 15 used to denote the mvolvement of chemical mteraction, in
which one organism affects the growth of another organism. The term 1s called

AOFESE DB SO, GRS H8E 96 TE) AT
AFO0BERE 2 N30 GIAPAoTAE0D, AAS af & HTE )
308} DAMNEOD TS0 DVOR. & PR, D0EPR?



Options :

1. Commensalism

. RN NOB0
1.

2. Ammensalism

930 2 )30

2.

3. Parasitism
- DD 289

4. Mutualism
L w DGO )BeCH0

Question Number : 56 Question Id : 793523156 Display Question Number : Yes Is Question
Mandatory : No

are slow acting, infectious proteins that cause brain diseases i mammals.

$8od DED OB PORNTD; FWOT AT,
AT

Options :
1. Viroids
QOO

2. Prions

(DO3°D)

2. &



-

3. Provirus

tugSleny

4. Prophage
Eeg

Question Number : 57 Question Id : 793523157 Display Question Number : Yes Is Question
Mandatory : No

Helianthus annus belongs to the family

PO OITORND BV E0EN027A8 TOAONE

Options :

1. Asclepiadaceae

) €9 ) BN ET o)
1,
2. Euphorbiaceae
. O EO YO
2.
3. Arecaceae

3 % @6??\)

4. Asteraceae

SV
4, &

Question Number : 58 Question Id : 793523158 Display Question Number : Yes Is Question
Mandatory : No



Many plants possess special structures which exudate water under low transpiration. These
modified structures are called

£PEP AN (BeE AT Eren SR G0eron, 20 88 T 8ohe
DER DBV, & MO0 ATEFOR 0erty?

Options :

1. Nectaries

J86ew
1. %
2. Hydathodes
TEOR)
2. ¢
3. Oil glands
230 [Hochen
3. %
4. Resin duct
4 TS ¢85

Question Number : 59 Question Id : 793523159 Display Question Number : Yes Is Question
Mandatory : No

Krebs cycle occurs i

325 ) DIE0 TS HOZIDN0E?

Options :
1. Mitochondria
E 0RO

1.4



2. Chloroplast

8
2. % o R
3. Peroxisome
D08 )P
3. %

4. Ribosome

[SFARIN

4. %

Question Number : 60 Question Id : 793523160 Display Question Number : Yes Is Question
Mandatory : No

In India, Green revolution happened during
2> S5F0, PO D0 DN 2OH0E?

Options :

1. 1947 -1957
1. %

2. 19571967
2. ®

3. 19671977
3.¢

4. 19771987
4. %



Question Number : 61 Question Id : 793523161 Display Question Number : Yes Is Question
Mandatory : No

Choose the incorrect statement regarding Cyanobacteria.

527§0057 ) H020H0D ) (8N JOTHEOA.

Options :

I. The storage products of cyanobacteria are Cyanophycean starch & protein.

328005 BNE) Ao &¢I DS VAOHS F'D) &

b
. S
2. Flagellas are present in Cyanobacteria.
DS2rEB0ITES TR EOEFaD.
2. ¢
3. Some cyanobacteria live mn symbiotic association with other organism.
) DS 2PIO0T 2668 BY0S 9Frdas @080
NIV
3, %

4. Oscillatoria 1s an example of cyanobacteria.

5,200 OTO DS 2rEO0ITE 2.8 Grrrde.

Question Number : 62 Question Id : 793523162 Display Question Number : Yes Is Question
Mandatory : No

Procambium gives rise to the

520000 B8 B3N

Options:

1. %



1. Demmnal tissue system

2582 6923°® 055650

2. Ground tissue system

TO& €325 D0

2. %
3. Vascular tissue system
- 33P0 §€923°0) ) £ed)
4. Non vascular tissue system
D°Q P00 5622370 09§05
4, %

Question Number : 63 Question Id : 793523163 Display Question Number : Yes Is Question
Mandatory : No

Induction of , 15 an alternate approach to conventional plant breeding and
transgenic plants to mtroduce desirable genefic variability i the gene pool.

G0 203D, 201 PO ST B BT
20000 DOHEAS A0IEPADH TS DOZO OO (EPQENS
NSO (285657 0 JGF0.

Options :
1. Somaclonal variation

SPNE IS D0

1.4

2. %



2. Antibiotic resistance gene

O5°0¢322037°¢38 DIV ) B §)

3. Both 1l and?2
1 20O 2 DO

4. Netther 1 nor 2
1 S 2 5°CD

Question Number : 64 Question Id : 793523164 Display Question Number : Yes Is Question
Mandatory : No

A specimen chosen by a later researcher and designated as a name bearing type specimen
after the original description was published.

DT 0T OTHEN) SPT SO BN e
EHO0LIE BT (¢ DT oo SOR God), DT

QODOTIDR0E.
Options :
1. Isotype
SOLVAAYS
1.%

2. Lectotype
v OFBD

L

Paratype
PO T



4. Syntype

. MOV

Question Number : 65 Question Id : 793523165 Display Question Number : Yes Is Question
Mandatory : No

Elaters are hygroscopic i nature, which absorb moisture and helps 1n spore dispersal.
They are found m

DereyDY T 52790 SO Es0trow, 39 Boded ferod) Darodo
TG0 NaPoEERon. 50 %)t GO

Options :

1. Fungi
2O 0TeN

2. Bryophytes

RAIVFN AN
2. ¥
3. Pteridophytes
ROEDE
3, %
4. Gymnosperms
23530°), V)02
4, %

Question Number : 66 Question Id : 793523166 Display Question Number : Yes Is Question



Mandatory : No

Durmg Hatch-Slack pathway, the transport of oxalo acetic acid takes place from

PSS SrPosS, 8516 IES e300 Barer %) 0B BINEOE?

Options :

1. Chloroplast of bundle sheath cells to vascular tissue

000 Eeaererds 04O §50 o) SO

2. Vascular tissue to chloroplast of bundle sheath cells
§6) §%50 Sere) STDPRE D) 0 820

-

3. Chloroplast of bundle sheath cells to cytosol of mesophyll cells

56 §%0 ge7re) SO DIFVS EeTre YO

4. Cytosol of mesophyll cells to chloroplast of bundle sheath cells
DI EeTe> VNS 204 §50 dere) ST

4.

Question Number : 67 Question Id : 793523167 Display Question Number : Yes Is Question
Mandatory : No

In biotic communities, the number of individuals of the spectes n any unit area 1s
represented as

ATPEE GO o) AFE PoB0S Far 2o 50 Ho2s O
DT APLOVDER0H?

Options :

1. %



1. Frequency

(DB

2. Density
PO C0¢%

2.¥

Abundance

QoD@

L4

4. Basal area

BOO (0650

Question Number : 68 Question Id : 793523168 Display Question Number : Yes Is Question
Mandatory : No

The method of construction of genetic maps of different chromosomes 15 called genefic
mappimg. 100 percent crossing over is expressed as

A (FArE o ZIEE sy e Ao SO0 2R Sredof eotrd.
100 630 T SEVT e 5558005300

Options :
1. 1 morgan

TS

1.¢

2. 1 cenfimorgan

1 ROESIT°R



-

3. 1 decimorgan

1 TBRASTP°
3. %
4. 1 mllimorgan
.. 1 VOIS

Question Number : 69 Question Id : 793523169 Display Question Number : Yes Is Question
Mandatory : No

Gram positive bacteria contains

[T 37°22¢3 23°sSBO5F® D GOENOE?
Options :

1. Thick cell wall and teichoic acid 1s absent.

0GP O O SO0 €300 AIPRE GO

1. %
2. Thick cell wall and teichoic acid 1s present.
0857 DO O DO S ONE OITFRG Gm) oW,
2. ¢
3. Thin cell wall and teichoic acid is present.
DY O 778 DO 315008 O Gy o,
3, %

4. Thin cell wall and teichoic acid 1s absent.

DY O Feh a0 35018 OFE GOBY.



Question Number : 70 Question Id : 793523170 Display Question Number : Yes Is Question
Mandatory : No

Companion cells only occur in

E0TPQ0NN TN WEYCS ST DO0ZIDN"ON

Options :

1. Gymnosperms

. 23o30°), )02
2. Angiosperms
O°02333° )0
2.¢
3. Pteridophytes
VOGO
3. %
4. Bryophytes
. (A" DEY

Question Number : 71 Question Id : 793523171 Display Question Number : Yes Is Question
Mandatory : No

The protein component of an enzyme is called
DOB D WY (FE3S 23750 Q DN0EFE?
Options:

1. Holoenzyme

S OB



2. Prosthetic group

. (B3 (D
3. Apoenzyme
5 | ==}
v €983%) 02300
4.  Coenzyme
\ §0B 0

Question Number : 72 Question Id : 793523172 Display Question Number : Yes Is Question
Mandatory : No

Each ovule 1s attached to the placenta by a small stalk called the

28 8090 T8 2.8 D) §50) 7750 BoNREER0E. BRR edotrd?

Options :

1. Funiculus

VEHASM{STN
1.¢
2. Raphe
=
2. % gl
3. Chalaza
- ] St

4. Micropyle
DEDO



Question Number : 73 Question Id : 793523173 Display Question Number : Yes Is Question
Mandatory : No

The transition zone between two or more diverse communities 15 called

B0Ch B ®0830T) 036 DS, ST D5 303 SR ssotrdy?

Options :
1. Ecoline
RSN
1, %
2. Ecotone
L TS
3. Ecotype
DETID
3. %

4. Edge effect
DG (0270

Question Number : 74 Question Id : 793523174 Display Question Number : Yes Is Question
Mandatory : No

The seeds are allowed fo germmate for some time and then given cold treatment by
keeping them at 0 - 5 ° C. This process 15 called

BTN 0500 INO TS BDHB0IGEN O Bees
TEN0-5°C. 3G E0T0 @ 0 WO D88 Bad e 0. & (S
D D0Erd)



Options :

J Senescence

VR OM)
1. %
2. Abscission
- €920 )X
3.  Photomorphogenesis
. NEAPSUOREIATATS

4.  Vemalization

RE)BBA®

4.

Question Number : 75 Question Id : 793523175 Display Question Number : Yes Is Question
Mandatory : No

Based on the morphology and sequence differences of 16S ribosomal RNA, who divided
the life form mto three major domain’

165 00O RNA T8 D0 HOA W8I Siare adorm,
268 EFaFR), aiPeh) (NGRS BRI et DB0TR)

Options:

1. R.H. Whittaker
R.H. DD

2. Carl Woese

5'8 56

2. ¢



Linnaeus

e

OV OND
3. %
4. Engler&Prantl
Q0010 & |08
4. %

Question Number : 76 Question Id : 793523176 Display Question Number : Yes Is Question
Mandatory : No

Persitant calyx 1s found in the members of

D S0 DOIBI0E A8 ) EDFTH22GOE

Options :

1. Euphorbiaceae

- oin@%;cﬁj‘)ﬁj
2. Malvaceae
e SBER
3. Solanaceae
INIOTNS
3.

4. Lamiaceae

eI



Question Number : 77 Question Id : 793523177 Display Question Number : Yes Is Question
Mandatory : No

Match the following:
806 &R B YOG

Apical cell theory ) Hanstein
D8O VO AFT0H0 VAR
Korper Kappe theory .

. £ Nagel

M) | §50EN) dFT00 | b) 29

Histogen theory Schmidt

W) erpssaroso | 9| 8

) Tunica Corpus theory ) Schuepp
T 500 00 A0

Options :

. % 1.()-c;)-b; (u)-a; (1v)-d
> v 2.(1)-b : (11)-d ; (11)-a ; (1v)-c
3 % 3. (1)-d; (1)-a; (m)-b: (1v)-c

4. (1)-b; (11)-c¢ ; (111)-d : (1v)-a

4, %

Question Number : 78 Question Id : 793523178 Display Question Number : Yes Is Question
Mandatory : No

This type of mechanism of photosynthesis 1s found only m succulents, xerophytes and
plants that grow m dry conditions.

§eaea0ds OIS0 TR0E) Br B8 AP0 ST EBOE) ), BT DD )
0050 6 DS T GO SFBD EANW0O



Options :

1. Photophosphorylation

. S TIFNTBAD
2. Calvin Benson Cycle
- 20 ¢ 23 R 8¢
3. Crassulacean Acid Metabolism
) [SENEFVONA AITVE 225(80D
3.
4. Photorespiration
L. DERBAS

Question Number : 79 Question Id : 793523179 Display Question Number : Yes Is Question
Mandatory : No

A taxonomic aid which gives complete available mformation of any one family or genus s
called

AT 2,8 $)E0020 BT 268 H020H0N 3P0 ASTFTTR) ©0B0D
S0838 HFAIPR) AHotrty?

Options :

1. Manual
S IINTO)

2. Monograph
ST

2. ¢



Catalogue
3ererh

L

4. Revision

DO 08

Question Number : 80 Question Id : 793523180 Display Question Number : Yes Is Question
Mandatory : No

Mycoplasma 1s a

DETR 2.8
Options :

1. Motile, gram negative and contains RNA.

290, (Po 15e30 aDOO5N RNA O G0oen0d.

2. Motile, gram positive and contains both DNA & RNA.
BOR0, [T aPe3s HOCH DNA & RNA B0
0EN0R.

3. Non-motile, gram positive and contains DNA.

D00 BAY, [T al&2¢32 DO DNA $OR G0EN0H.

4. Non-motile, gram negative and contams both DNA & RNA.

B0 BAG, [T T6¢38 B DNA & RNA Todoe3 $On
EIO[AVOIA)

4.+



Question Number : 81 Question Id : 793523181 Display Question Number : Yes Is Question
Mandatory : No

A type of stele where a cylmder of phloem surrounds a star like mass of

xylem. Protoxylem 15 found at the tip of radiating arms of the star like xylem.

28D | 9635073 505 98850 LW Fahad N0 &) 2.8 85 S.
BP0 a)0ES 38 (650 G0E) TARODE0N Dehe) 5 6 |HEPS Yoo
NINARTTAREIARNAY,

Options :
1. Haplostele
SEVEND!
1. %
2. Actinostele
RIS
2.¢
3. Plectostele
DTS
3'33 ™ G G
4. Siphonostele
DS RO
4. %

Question Number : 82 Question Id : 793523182 Display Question Number : Yes Is Question
Mandatory : No

Centrioles are

OETBIO ) eI

Options:
1.¢



1. Absent mplant cell.
AST0ES DS 5 S

2. Absent in animal cell.

23065 €80 GO,

-

3. Absent in both plant cell & animal cell.

S0E) 8690 & B0 &80 DOBOE3S S SE.

4. Present in both plant cell & animal cell.

308, 8620 & 206 690 TOB0E3S &P GOENOA.

4. %

Question Number : 83 Question Id : 793523183 Display Question Number : Yes Is Question
Mandatory : No

In meiotic crossing over, the pairing between the two homologous chromosomes 1s

iitiated during stage of Prophase I of Me1osis I.

DA (S000 4306, DOk TTEIrern (§RrS e sl s
TONC0 9TE DTFNN I TNE) (SFDR I T W)
BPE02)0G00

Options:

1.  Pachytene

NERTALS



2.  Diplotene

S E3S
2. %
3. Zygotene
PRI
3.¥
4.  Leptotene
SIS
4, %

Question Number : 84 Question Id : 793523184 Display Question Number : Yes Is Question
Mandatory : No

Starch, tannin and mucilage are mostly found in

D), 3RS 500050 33220 8923 D%).¢8 EADT AW

Options :
1. Epidermis
2°5°§TB0

2. Endodermis

DOBTOIR

2. ¢

3. Pericycle

2085
3. %



4. Pith
e

Question Number : 85 Question Id : 793523185 Display Question Number : Yes Is Question
Mandatory : No

The rate of storage of organic matter not used by the heterotrophs or consumers is known
s

TOIE D B DATITDHEN EGTEFA0A ROOOH T A
BED A i0erey?

Options :
1. Gross Primary Productivity
. QPO (PGS e 8 eb
2. Secondary Productivity
. £ 5O e )i eh
3. Net Productivity
- QEY e )8 ed

4. Gross Primary Productivity & Net Productivity
QAT [oPQaDE e )8 & DEE e )5Eed

Question Number : 86 Question Id : 793523186 Display Question Number : Yes Is Question
Mandatory : No



Endosperm development takes place from the m the embryo sac.

AR ANRA 2050 0D BAHEROO.

Options :

1. Haploid cell (n)
PPFONE VO (n)

1. %
2. Diploid cell (2n)
QoG VO (2 n)
2. %

3. Triploid cell (3n)
€3Pon& VO (3n)

3.¢

4. Tetraploid cell (4n)
B(EFTONE DO (4 n)

Question Number : 87 Question Id : 793523187 Display Question Number : Yes Is Question

Mandatory : No

The free floating leaves in water have stomata on

DE3S’ &% SOOITT 350N FLTEP ¥ 8 GOETFON?

Options :

1. Upper surface

)M €50DHHO

1.4



2. Lower surface

M edOEBHDO

Upper & lower surface

D) & BN G050

T

3. %

4. None of the above
D8 el §5

Question Number : 88 Question Id : 793523188 Display Question Number : Yes Is Question
Mandatory : No

In a particular family of angiosperms, the androecmum is found with corpusculum and the
pollen grains are found in pollinia.

O5F0RTIT 510 G3NE) O A0R S)E020E, SOERN0 TG RNFONS
SO0 B rarsen e EANT?,

Options :

1. Asclepiadaceae

. R IS DEF I
1.
2. Asteraceae
SV
2. ® e
3. Arecaceae
93



4. Euphorbiaceae

WAV ORTO VS

4, %

Question Number : 89 Question Id : 793523189 Display Question Number : Yes Is Question
Mandatory : No

The crown gall of tomato 1s caused by

3307 B30 80610 TS TR 30 Eeniheddo6?

Options :

1. Agrobacterium tumifaciens

29|23 §BODO EFETDIONS)

1.4
2. Erwiniacarotovora
. DB (O ETES S O
3. Xanthomonascampestris
& —= = =
E30 BNTaX SO | W
3. %
4. Pseudomonas solanacearum
DI R0 FOIIONB
4, %

Question Number : 90 Question Id : 793523190 Display Question Number : Yes Is Question

Mandatory : No



In C4 plants, the carbon dioxide acceptor 1s

Ca OO, 25)S $05°3 )& @0HE00TE?

Options :

1. Ribulose bisphosphate
820 DIV

2. Phosphoenol pyruvate

PP YO DR

2. ¢

-

3. Oxalo acetic acid

- 2353165 DEIE 3600

4. 3 —phosphoglycerate

3 - PPN AOBES

Question Number : 91 Question Id : 793523191 Display Question Number : Yes Is Question
Mandatory : No

In Dracena,the xylem surrounds the phloem. This type of vascular bundle is called as
FRS, 28D Hahed HAT G0en0d. & 883 ied 2080 )
D0Er?

Options:

1.  Amphicribal
O3 ONVDO

2. ¢



2. Amphivasal

CIONDDIO
3. Radial
BGOHO
3, %
4. Conjoint
QOO0
4, %

Question Number : 92 Question Id : 793523192 Display Question Number : Yes Is Question
Mandatory : No

Lake ecosystem 1s an example for
DBN) DTG 09 §dQ DA G Bea?
Options :

1. Pyramid of number

QO DG
1.¢
2. Pyramid of biomass
2 O30°30° Q) A3WNEY DG
2. %
3. Pyramid of energy
- 38 DB

4. Pyramid of trophic levels

EDE TN DS



Question Number : 93 Question Id : 793523193 Display Question Number : Yes Is Question
Mandatory : No

Fungi belonging to are known as sac fungi.
£ ToA FO0TOM T HONR ®OEFE?

Options :

1. Class Myxomycetes

5°00 3J§SQ?D &)

1. ®
2. Class Phycomycetes
R DEVE )
2. %
3. Class Ascomycetes
S0 @OF)E DR
3. ¢
4. Class Basidiomycetes
50 2B BI D VE)
4, %

Question Number : 94 Question Id : 793523194 Display Question Number : Yes Is Question
Mandatory : No

Ray florets and disc florets are found in

0 &BE) 000N G 8T ) D838 STV ON?

Options :

1. %



1. Asclepiadaceae
RIS EF o)

2. Asteraceae

AT
2. ¥ ‘
3. Arecaceae
- DIOIIN
4. Euphorbiaceae
AN FFOHAQ
4, %

Question Number : 95 Question Id : 793523195 Display Question Number : Yes Is Question
Mandatory : No

A type of polyembryony where a number of embryos develop as a result of the fertilization
of several archegonia.

5% 80T HOASEE0 HOBOT HIE DTN BB TOHES)
2.8 88 FOA0 DT,

Options :

1. Clevagepolyembryony

3325 ar®0 )T

2. Simple polyembryony

3 SO0 TITR

2.¥



3.  Rosette polyembryony

T OO E) B

4.  Induced polyembryony
05 OO L) O35

4, %

Question Number : 96 Question Id : 793523196 Display Question Number : Yes Is Question
Mandatory : No

Viruses that infect the bacteria are
23° s 86057 HOENOT DEDEN
Options :

1. Capsids
SHTORIEN

Envelopes

2 £EIEN
2. %

Phages
s DB

Capsomeres

SHTVEAFR VIO

Question Number : 97 Question Id : 793523197 Display Question Number : Yes Is Question



Mandatory : No

The best known artificial system of classification 1s

S5SOE B TBNEY @965 506h [V EY(E363) 63§59
Options :

1. Bentham & Hooker’s System of Classification

TOTD & T0ED ) BNEY SOEBED 695690

1. %
2.  Limmaeus’s System of Classification
OTYLOHD TBE) SOEGED 65555
2.
3. Engler&Prantl’s System of Classification
DOND & (P08 TBEY SOEBED 9569
3, %

4. Hutchinson’s System of Classification

FOSNS BNE), SOESED 638550

4, ®

Question Number : 98 Question Id : 793523198 Display Question Number : Yes Is Question
Mandatory : No

When the protoxylem develops towards the centre, the xylem strand 1s called
(FEP§ IO 000 Ba) @239 TOADRI, ZSN |08 A
NDOEFE?

Options :

1. Exarch

SERIOR



2. Endarch

DOCF0)
2. ¢
3. Mesarch
DO
3, %
4. Metaxylem
ISMVSRTOISY
4, %

Question Number : 99 Question Id : 793523199 Display Question Number : Yes Is Question
Mandatory : No

The phenotypic ratio of a dihybrid cross is

BTG (570 DB0EY DNOE £ AN

Options :

1. 12231
1, %

2. 9:3:14
2. %

3. ¥Fak el il
3. %

4. 9:83:3:1



Question Number : 100 Question Id : 793523200 Display Question Number : Yes Is Question
Mandatory : No

Which one of the following 1s not an example for Mutualism?
8068 T3S DO NI IETTVE &rrerdea 507

Options :

1. Lichens

1% [SES

2. Nitrogen fixation

523 VOEGED
2. %
3. Mycorrhizae
L. oDS O

4. Epiphytes
D NE )

4.¢



